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1050 1.5 + 0.02 1.5+ 0.27 1.5+ 1.0 2.1+ 2.1

1100 0.96 + 0.02 0.96 + 0.21 1.0+ 0.82 1.4+ 1.6

1150 0.62 + 0.02 0.62 + 0.17 0.66 + 0.75 0.92+ 1.4

1200 0.41 + 0.01 0.41 + 0.14 0.44 + 0.55 0.60+ 1.3

1300 0.17 + 0.01 0.17 + 0.09 0.19 + 0.37 0.26 + 0.74

1400 0.07 + 0.00 0.07 + 0.06 0.08 + 0.24 0.12 + 0.52

|yde|  0.34
⇣ mLQ

1TeV

⌘

|yue|  0.36
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1TeV
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KL ! µ�e+
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1TeV

⌘2

p
s = 8TeV



CONCLUSIONS 

Sizeable lepton-quark-leptoquark couplings contribute 
to leptoquark production at LHC. 
 
 
A t-channel pair production and a single leptoquark 
production both need to be taken into consideration if 
the leptoquark Yukawa coupling cannot be neglected. 
 
 
A recast of an existing CMS search for the second 
generation leptoquark yields the best limit on Yukawa 
coupling between the leptoquark, a muon and a strange 
quark to date. 
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TO DO LIST 

Optimize cuts for the single LQ production scenario… 
 
What happens when one departs from the single 
generation assumption? 
 
NLO calculation of the single LQ production at the 
generator level… 
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